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5.1 – Classifying Triangles 

Classify each triangle by angles and by sides. 
 
1.  
 
 
 
 
 
A:________________ 
 
 
S:________________ 

 
2.  
 
 
 
 
 
A:________________ 
 
 
S:________________ 
 

 
3.  
 
 
 
 
 
A:________________ 
 
 
S:________________ 
 

 
4.  
 
 
 
 
 
A:________________ 
 
 
S:________________ 
 

Find the values of the variables. 
 
5.  

 

 

 

 

 

 

𝑥 =________________ 

 
6.  

 

 

 

 

 

 

𝑥 =________________ 

 
7.  

 

 

 

 

 

 

 

𝑥 =________________ 

 
8.  

 

 

 

 

 

 

 

𝑥 =________________ 

110° 
70° 7 

8 

5 

(𝑥 + 20)° 𝑥° 

(2𝑥)° 

𝑥° 

42° 100° 

80° 

𝑥° (3𝑥 − 22)° 
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9.  
 
 
 
 
 
 
 
 
 
 
 

𝑥 =________________ 
 

 
10.  
 
 
 
 
 
 
 
 
 
 
 

𝑥 =________________ 
 

 
11.  
 
 
 
 
 
 
 
 
 
 
 

𝑥 =________________ 
 

𝑦 =________________ 
 

𝑧 =________________ 
 

 
12. 𝑚∠1 = 𝑚∠2 = 62° 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
𝑥 =________________ 
 

𝑦 =________________ 
 

 
13.  
 
 
 
 
 
 
 
 
 
 
 

𝑦 =________________ 
 

𝑧 =________________ 

 
14.  
 
 
 
 
 
 
 
 
 
 
 

𝑥 =________________ 
 

𝑦 =________________ 
 

54° 

𝑥° 

𝑧° 52° 

𝑦° 

33° 

117° 

𝑥° 

75° 

𝑥° 

45° 

47° 

𝑦° 𝑧° 
45° 115° 

𝑦° 

𝑥° 

𝑥° 
𝑦° 

28° 

1 2 
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15.  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

𝑥 =________________ 
 

 
 
16.  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

𝑥 =________________ 
 

 
17.  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

𝑎 =________________ 
 

𝑏 =________________ 
 

𝑐 =________________ 
 

𝑑 =________________ 
 

𝑒 =________________ 
 

 
18.  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
𝑥 =________________ 
 

𝑚∠A =________________ 
 

𝑚∠B =________________ 
 

𝑚∠ACB =________________ 
 

𝑚∠DCA =________________ 
 

 

48° 

𝑥° (𝑥 − 68)° 

44° (2𝑥)° 

(𝑥 + 4)° 

16° 

(𝑥 + 5)° (2𝑥 + 3)° 

D 

A 

C B 

36° 

𝑎° 

𝑏° 

𝑐° 𝑑° 

𝑒° 
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REVIEW PROBLEMS 

Solve each of the following. 

 

19. 𝑥 = ____________ 

 

 

 

 

 

 

 

 

 

 

 

 

 

TU ⃡     bisects RS̅̅̅̅ .  If RS = 7𝑥 − 12 and RT = 2𝑥 + 9, find the value of ‘𝑥’. 

 

 

 

 

 

 

20. 𝑥 = ____________ 

 

 

 

 

 

 

 

 

 

 

 

Find the value of ‘𝑥’. 

 

 

 

𝐒 𝐑 

𝐓 

𝐔 

(7𝑥 − 22)° 

(3𝑥 + 2)° 


